Your Distributor: 2025

FUNDRAISING ORDER FORM

Today's Date (mm/dd/yy):	Ship Date (mm/dd/yy):		
Bill to:	Ship to: Billing Address: Residential Address – Add \$10:		
School:	School:		
Address:	Address:		
City:	City:		
State:Zip:	State:Zip:		
Phone: ()	Phone: ()		
Contact Person:	Contact Person:		
Email:	Email:		
Your Position:	Your Position:		

Product	Sell for	Group's Profit	Case Count	Cost per Case	No. of Cases	Extension
Original Smencils	\$2	50%	10 Buckets of 50	\$500		
Sweet Rewards Smencils	\$2	50%	10 Buckets of 50	\$500		
Dessert Smencils	\$2	50%	10 Buckets of 50	\$500		
Candy Counter Smencils	\$2	50%	10 Buckets of 50	\$500		
Soda Pop Shop Smencils	\$2	50%	6 Buckets of 50	\$300		
Sweetheart Smencils	\$2	50%	10 Buckets of 50	\$500		
Spring Smencils	\$2	50%	10 Buckets of 50	\$500		
Halloween Smencils	\$2	50%	10 Buckets of 50	\$500		
Holiday Smencils	\$2	50%	10 Buckets of 50	\$500		
Smelly Gellies Gel Crayons	\$2	40%	6 Buckets of 50	\$360		
Jumbo Smickers	\$2	40%	Case of 320 (8 scents)	\$384		
Fruit Zoo Mechanical Smencils	\$2	40%	10 Buckets of 32	\$384		
Coffee Smens	\$2	40%	10 Buckets of 32	\$384		
Dessert Smens	\$2	40%	10 Buckets of 32	\$384		
Fruit Tri-Color Smens	\$2	40%	10 Buckets of 32	\$384		
Glitter Gel Smens	\$2	40%	10 Buckets of 32	\$384		
Scented Keychains	\$2	40%	50 of Each (4 scents)	\$240		
Sporty Smelly Ballz	\$5	40%	3 Displays of 30 (2-pack)	\$270		
Cake Pops Smelly Ballz	\$5	40%	3 Displays of 30 (2-pack)	\$270		
Fruit Heroes Smelly Ballz	\$5	40%	3 Displays of 30 (2-pack)	\$270		
Sporty Backpack Clips	\$5	40%	3 Displays of 36 (4 scents)	\$324		
Yummy Gummy Backpack Clips	\$5	40%	3 Displays of 36 (6 scents)	\$324		
Oh So Yummy Backpack Clips	\$5	40%	3 Displays of 36 (6 scents)	\$324		
Geladough	\$5	40%	3 Displays of 36 (12 scents)	\$324		
Product	Sell for	Group's Profit	Case Count	Cost per Case	No. of	Extension
Fart Monsters Samples	\$30	40%	Case of 6 (6 scents)	\$108		
Fart Monsters Orders Takers	N/A	N/A	Order 1 per seller	Free		

For orders that need to be shipped to a CA address, add your % of district & state Sales Tax

If residential add \$10

Order Total



New Smencils Pricing Now Sells For \$2

YOU EARN

1 case \$500 profit \$1000 profit 2 cases \$1500 profit 3 cases

CHECK	ONE	O٢	HON

- ☐ I am faxing an official School Purchase Order.
- ☐ I am mailing in a check with this form.
- Charge my credit card.
 *Please ensure that the "Bill to" information matches the credit card.

_			
Card Number:			
Exp. Billing Zip Code:			
○ Visa			
ODiscover	American Express		
Signature:			

O 2.50010	 O 7	can Expicos	
Signature:			

AMERICA'S NEWEST FUNDRAISERS



(GOURMET SCENTED PLUSH)
(WITH SELF-INFLATING WHOOPEE (USHION)

CONTACT YOUR LOCAL DISTRIBUTOR



Over 100 million sold!













Jelly Donut Strawberry Cheesecake Orange Soda Pineapple Swirl **Rainbow Sherbet Jolly Watermelon Blue Slushie** S'mores **Black Cherry Bubble Gum**







Bubble Gum Blue Raspberry Rainbow Sherbet Pineapple Tangerine



Original Smencils





Apple **Bubble Gum** Chocolate Chip Cookie Banana **Peppermint** Birthday Cake **Donut** Grape S'mores **Cotton Candy**





Strawberry Shortcake Sugar Cookie Waffle Cone Lemon Meringue Pineapple Swirl **Frosted Cupcake** Chocolate Cake Cinnamon Bun **Toasted Marshmallow** Cherry Popsicle

Candy Cane

Sugar Plum

Mint Cocoa

Snow Berry

Gingerbread





Cherry Cola Grape Soda Fizzy Pop Orange Soda Rootbeer

Blueberry

Chocolate

Strawberry

Donut

Marshmallow





Gummy Bear Choco Mint Jolly Watermelon Rootbeer Lollipop **Bubble Gum** Fruit Twirl **Caramel Delight Red Hot Cinnamon** Sparkle Pop

Sweet Rewards Smencils



Soda Pop Shop Smencils

Candy Counter Smencils





Halloween Smencils

Pumpkin Cherry **Candy Apple Blueberry**









Sweet Heart Smencils





Lemon Meringue Chocolate Marshmallow Jelly Bean **Cotton Candy**









Pineapple Swirl

Lemon-Lime Jelly



Espresso Con Panna Mocha Roasted Hazelnut **Caramel Macchiato** Cafe Latte French Vanilla













SELL FOR





TRI-COLORED INK BLACK BLUE RED

Blueberry Strawberry **Orange** Watermelon







Mango **Strawberry Bubble Gum** Cupcake **Black Cherry Blueberry Pie Cotton Candy** Watermelon

Smendis

Apple



Scented KEYCHAINS



Cupcake







Cherry Grape Plum Lemon Coconut **Pineapple** Watermelon





Jumbo Scratch & Sniff Stickers 2 Stickers in each pack!

SELL FOR



+ Free Table Display

Bubble Gum



Sour Apple



Rootbeer



Lemon Lime



Watermelon



Donut



Tutti Frutti



Cupcake



#1 Sensory Scented Fidget Dough for Ultimate Play!

SELL FOR



2.8"





Bubble Gum



Cinnamon Roll



Grape



Marshmallow



+ Free Table Display



Pineapple



Watermelon



Mint



Chocolate



Cake Batter



Strawberry



Lemon Meringue



Cotton Candy



Game on! Catch all 6 for ultimate stress relief!









Cremesicle

Watermelon



Bubble Gum

Rootbeer





Lemon Lime



+ Free Table Display



Fun Cake Pops scents to choose from!







Chocolate Mint



Red Velvet



Cotton Candy



Strawberry



+ Free Table Display



Lemon Meringue



Collect all 6 gourmet scented stress balls!





Strawberry



Orange



Pineapple

Grape

, JÜÜÜL

+ Free Table Display



(Smelly) swag for your bag!











Chocolate Chip



Fruit Punch



Rootbeer



+ Free Table Display

Smell the victory with these sporty backpack clips!



Treat yourself to some yummy backpack clips!



S'mores



Rocket Popsicle



Cupcake



Rootbeer



Meringue Pie



+ Free Table Display



These clips are un-bear-ably cute and scented!

Strawberry Shortcake



Strawberry







Lemon-Lime





+ Free Table Display

